	2020-2021 CASSVILLE HIGH SCHOOL SENIORS SCHOLARSHIP RECIPIENTS			
STUDENT NAME	NAME OF SCHOLARSHIP	AMOUNT	RENEWABLE	TOTAL
Abigail Jackson	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Abraham Garcia-Gonzalez	Ray and Wilma Skelton	\$1,250.00		\$1,250.00
Abraham Garcia-Gonzalez	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$7,250.00
Adrian Salas-Sesenas	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Adrienne Quiros	Sandra Forrester	\$300.00		\$300.00
Adrienne Quiros	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Adrienne Quiros	Crowder College Trustees'	\$675.00	Renewable 4 semesters	\$2,700.00 \$9,000.00
				*
Adryana Quinlan	Little Joe Transplant	\$1,000.00	Danawahla 4	\$1,000.00
Adryana Quinlan	Lindenwood University Academic Scholarship	\$10,000.00	Renewable 4 years	\$40,000.00
, ,	, and the same of	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	<b>,</b>	\$41,000.00
Alex Holman	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Alexia Davison	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Alexia Davison	United States National Guard			
Ariana Lemus-Whittenburg	Missouri State University Access Missouri Program Scholarship	\$2,000.00		\$2,000.00
Avery Periman	Shell Knob Thrifty Closet	\$500.00	renewable 2 semesters	\$1,000.00
Bailey Messbarger	Eagle Rock Community Association	\$500.00		\$500.00
Bailey Messbarger	Shell Knob Central Community United Methodist Church	\$350.00		\$700.00
Bailey Messbarger	Shell Knob Thrifty Closet	\$500.00	renewable 2 semesters	\$1,000.00
Bailey Messbarger	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$8,200.00
Brina Davis	Maryville University's Big Red Scholarship	\$12,000	Renewable 4 years	\$48,000
Brina Davis	University of Arkansas Legacy Scholarship	\$11,000	Renewable 4 years	\$44,000
Brina Davis	Drury University Legacy Scholarship	\$11,000	Renewable 4 years	\$44,000
				\$136,000.00

Cameron Lewis	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Cameron Lewis	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Camron Sloan	FFA Booster Club	\$1,000.00		\$1,000.00
Camron Sloan	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$7,000.00
Carson Whittemire	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Chance Shepherd	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Chantly Yarnall	Little Joe Transplant	\$1,000.00		\$1,000.00
Chantly Yarnall	Rotary Club	\$500.00		\$500.00
Ole a settle i Valore a II	Missouri Otata Universita Assalamia Francisco Ochalambia	<b>#0.000.00</b>	Renewable 4	#0.000.00
Chantly Yarnall	Missouri State University Academic Excellence Scholarships CHS A+ Scholarship	\$2,000.00	years	\$8,000.00
Chantly Yarnall	CH5 A+ Scholarship	\$6,000.00		\$6,000.00 \$15,500.00
				\$15,500.00
Chloe Parsons	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Cole O'Neill	Shelter Insurance	\$2,000.00		\$2,000.00
0 1 0111 311	D 17 1 01 1 1:	#00.000.00	Renewable 4	400 000 00
Cole O'Neill	Drury's Trustee Scholarship	\$20,000.00	years	\$80,000.00
Cole O'Neill Cole O'Neill	FBLA Scholarship CHS A+ Scholarship	\$300.00		\$300.00 \$6,000.00
Cole O Nelli	CHS A+ Scholarship	\$6,000.00		\$88,300.00
David Oliphant	Rotary Club	\$500.00		\$500.00
David Cliphant	Totally olds	φοσο.σσ	Renewable 4	Ψ000.00
David Oliphant	Missouri State University Academic Achievement Scholarship	\$1,000.00	years	\$4,000.00
David Oliphant	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$10,500.00
Dazee Williams	Rotary Club	\$500.00		\$500.00
Dazee Williams	Community Blood Center of the Ozarks Drawing	\$250.00		\$250.00
Dazee Williams	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$6,750.00
Denisse Aguinaga	MariCorp U.S.	\$1,000.00		\$1,000.00
Denisse Aguinaga	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$7,000.00
Drake Reese	CHS A+ Scholarship	\$6,000.00	_	\$6,000.00
Drake Reese	Missouri Southern State University A+ Leadership	\$1,000.00	Renewable 4 years	\$4,000.00
				\$10,000.00

Dylan Berndt	Missouri State University Board of Governors Scholarships	\$6,500.00	Renewable 4 years	\$26,000.00
Emily Ortega-Reyes	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Liffing Offega-Ixeyes	On S A Contolar ship	φ0,000.00		φυ,υυυ.υυ
Emily Sandoval	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Erika Cortez Garcia	Dare to Dream	\$1,000.00		\$1,000.00
Evan Foulke	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Evan Foulke	Drury University Founders Award	\$10,000.00		\$10,000.00
		, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	Renewable 4	, ,,,,,,,,
Evan Foulke	University of Arkansas New Arkansan Non-Resident Tuition Award	\$11,525.00	years	\$46,100.00
				\$62,100.00
Gabriel Hunter	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Gavin Moore	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Hailey Bowen	Freedom Bank of Southern Missouri Wayne Bickford Ag	\$500.00		\$500.00
Hailey Bowen	MFA	\$2,000.00		\$2,000.00
Hailey Bowen	FFA Booster Club	\$1,250.00		\$1,250.00
Hailey Bowen	Crowder College Bob & Jean Hailey Endowment Scholarship	\$1,000.00		\$1,000.00
Hailey Bowen	Olin J. Brattin	\$2,500.00		\$2,500.00
Hailey Bowen	CHS A+ Scholarship	\$6,000.00		\$6,000.00
		<b>V</b> 0,000.00		\$13,250.00
Hallie Hackler	Shell Knob Central Community United Methodist Church	\$350.00		\$700.00
			renewable 2	
Hallie Hackler	Shell Knob Thrifty Closet	\$500.00	semesters	\$1,000.00
Hallie Hackler	CHS A+ Scholarship	\$6,000.00		\$6,000.00
		***	Renewable 4	** ***
Hallie Hackler	Missouri State Promise Scholarship	\$2,000.00	years	\$8,000.00
				\$15,700.00
Hanna Johnson	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Hannah Hackler	Doris Lorayne Sims Easley	\$1,000.00		\$1,000.00
Hannah Hackler	Little Joe Transplant	\$1,000.00		\$1,000.00
Hannah Hackler	Shell Knob Central Community United Methodist Church	\$350.00		\$700.00
Hannah Hasidar	Shall Knob Thriffy Closet	<b>\$500.00</b>	renewable 2	¢4 000 00
Hannah Hackler	Shell Knob Thrifty Closet	\$500.00	semesters	\$1,000.00
Hannah Hackler	CHS A+ Scholarship	\$6,000.00	Donowahla 4	\$6,000.00
Hannah Hackler	Missouri State University Academic Distinction Scholarship	\$1,500.00	Renewable 4 years	\$6,000.00

Hannah Hackler	Missouri State University Access Missouri Program Scholarship	\$2,000.00		\$2,000.00
				\$17,700.00
Harmony Mills	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Hayden Sink	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Harridge Oleda	Missauri Osutham Otata Hairamita A. Landaushin	#4 000 00	Renewable 4	<b>#4.000.00</b>
Hayden Sink	Missouri Southern State University A+ Leadership	\$1,000.00	years	\$4,000.00 \$10,000.00
Haylie Rickard	Arvest Bank - Shell Knob	\$250.00		\$250.00
Haylie Rickard	Security Bank of Southwest Missouri	\$500.00		\$500.00
Taylo Hokara	Dank of Countries Interest	φσσ.σσ	Renewable 2	φοσο.σσ
Haylie Rickard	Shell Knob Central Community United Methodist Church	\$350.00	semesters	\$700.00
			renewable 2	
Haylie Rickard	Shell Knob Thrifty Closet	\$500.00	semesters	\$1,000.00
Haylie Rickard	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$8,450.00
Hunter Chasteen	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Idamaris Revolorio-Herrera	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jaiden Reibert	CHS A+ Scholarship	\$6,000.00		\$6,000.00
		201.101	Renewable 4	407 700 00
Jaiden Reibert	Evangel University	\$24,434	years	\$97,736.00
Jaiden Reibert	Fayetteville Fire Fighters Association IAFF Local 2866 Scholarship	\$3,000.00		\$3,000.00 \$106,736.00
				\$100,730.00
Jamie Watts	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jayden Bowman	CHS A+ Scholarship	\$6,000.00		\$6,000.00
			Renewable 4	
Jayden Bowman	MSU Provost Merit Scholarship and campus housing	\$4,000.00	years	\$16,000.00
				\$22,000.00
Jayden Woodruff	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jazmin Carroll	Carroll Electric Cooperative	\$500.00		\$500.00
Jazmin Carroll	Eagle Rock Community Association	\$500.00		\$500.00
			Renewable 4	
Jazmin Carroll	Missouri State University Provost Scholarship	\$4,000.00	years	\$16,000.00
Jozmin Carroll	Shall Knoh Thriffy Closet	Ø500 00	renewable 2	¢4 000 00
Jazmin Carroll  Jazmin Carroll	Shell Knob Thrifty Closet CHS A+ Scholarship	\$500.00 \$6,000.00	semesters	\$1,000.00 \$6,000.00
Jaziiiii CaiiUli		φυ,υυυ.υυ		\$24,000.00

Jennifer Bickford	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jericho Farris	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jerome Ewing	CCTA	\$250.00		\$250.00
Jerome Ewing	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$6,250.00
Jordan Anderson	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jordan Lewis	Doris Lorayne Sims Easley	\$1,000.00		\$1,000.00
Jordan Lewis	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jordan Lewis	Missouri State University Promise Scholarship	\$1,500.00	Renewable 4 years	\$6,000.00
Jordan Lewis	Missouri Southern State University Merit Gold Scholarship	\$3,500.00	Renewable 4 years	\$14,000.00
				\$27,000.00
Jordyn Stafford	MariCorp U.S.	\$1,000.00		\$1,000.00
Jordyn Stafford	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Jordyn Stafford	Missouri Southern State University Merit Scholarship	\$5,000.00	Renewable 4 years	\$20,000.00
				\$27,000.00
Joseph Blanchette	Battery Outfitters Scholarship	\$500.00		\$500.00
Joseph Blanchette	Shell Knob Thrifty Closet	\$500.00	Renewable 2 semesters	\$1,000.00
Joseph Blanchette	CHS A+ Scholarship	\$6,000.00		\$6,000.00 \$7,500.00
Josiah Hill	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Josie Guevara	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Josie Guevera	Commerce Bank	\$500.00		\$500.00
Kaden Blisard	CHS A+ Scholarship	\$6,000.00		\$6,500.00 \$6,000.00
NAUGII DIISAIU	OHOA: Odilolalalilp	φυ,υυυ.υυ		φυ,υυυ.υυ
Kellan Jack	Otis Presidential Merit Scholarship	\$12,000.00	Renewable 4 years	\$48,000.00
Kellan Jack	Missouri State University Academic Excellence Scholarship	\$2,000.00	Renewable 4 years	\$8,000.00
Kellan Jack	MOSO Merit Gold Scholarship	\$3,500.00	Renewable 4 years	\$14,000.00
				\$70,000.00

Krysta Rawlings	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Kyra Bailey	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Kyra Bailey	Freedom Bank of Southern Missouri Drawing	\$100		\$100.00
Kyra Bailey	Venta Plummer	\$500		\$500.00
				\$6,600.00
Kyren Postlewait	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Kyren Postlewait	Missouri Southern State university Track and Field Scholarship	\$3,000.00	Renewable 4 years	\$12,000.00
Tyren i ostiewati	Wilsouth Southern State university Track and Field Scholarship	ψ3,000.00	Renewable 4	Ψ12,000.00
Kyren Postlewait	Missouri Southern State University A+ Leadership	\$1,000.00	years	\$4,000.00
			-	\$22,000.00
Lakein Madison	Arvest Bank - Cassville	\$250.00		\$250.00
Lakein Madison	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$6,250.00
Laney Roller	ССТА	\$500.00		\$500.00
Laney Roller	Security Bank of Southwest Missouri	\$500.00		<u>\$500.00</u>
				\$1,000.00
Lannin Pryor	FFA Booster Club	\$750.00		\$750.00
Lannin Pryor	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$6,750.00
			Renewable 4	
Layne Jung	Missouri State University Promise Scholarship	\$1,500.00	years	\$6,000.00
Layne Jung	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Layne Jung	United States National Guard			\$12,000.00
Lilly Harrison	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Lily Love	Rotary Club	\$500.00		\$500.00
Lily Love	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$6,500.00
Logan Holmes	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Madison Bowyer	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Makayla Harvey	C.A.T.S.	\$1,000.00		\$1,000.00
Makayla Harvey	CHS Class of 1995	\$100.00		\$100.00
Makayla Harvey	Little Joe Transplant	\$1,000.00		\$1,000.00
Makayla Harvey	Doris Lorayne Sims Easley	\$1,000.00		\$1,000.00
Makayla Harvey	Security Bank of Southwest Missouri	\$500.00		\$500.00

Makayla Harvey	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$9,600.00
Mayra Serrano	CHS A+ Scholarship	\$6,000.00		\$6,000.00
McKenzie McNabb	CHS A+ Scholarship	\$6,000.00		\$6,000.00
McKenzie McNabb	Missouri State University Academic Distinction Scholarship	\$1,500.00	Renewable 4 years	\$6,000.00
WORKENZIE WORKADD	Wild State Striversity / teadernic Distriction Scribiarship	ψ1,000.00	years	\$12,000.00
Mitchell Schmidt	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Monica Terry	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Nicholette Melchor	Russell Melton Memorial	\$900.00		\$900.00
Nicholette Melchor	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Nicholette Melchor	Dr. Mary Newman	\$750.00		\$750.00
				\$7,650.00
Olivia Holman	Doris Lorayne Sims Easley	\$1,000.00		\$1,000.00
Olivia Holman	Little Joe Transplant	\$1,000.00		\$1,000.00
Olivia Holman	Rotary Club	\$500.00		\$500.00
				\$2,500.00
Pace Evans	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Patrick Dunker	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Robert Massey	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Russell Dunker	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Russell Dunker	College of the Ozarks Scholarship and Work Program	\$19,500.00	Renewable 4 years	\$78,000.00
Nussell Dulkel	College of the Ozarks Scholarship and Work Frogram	\$19,500.00	years	\$84,000.00
Ryan Larson-Brant	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Ryan Yang	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Dyan Yang	Liniversity of Arkenness New Arkenness New Decident Tuitien Award	\$14.82F.00	Renewable 4	¢E0 200 00
Ryan Yang	University of Arkansas New Arkansan Non-Resident Tuition Award	\$14,825.00	years	\$59,300.00 \$65,300.00
Sadie Reuter	Doris Lorayne Sims Easley	\$1,000.00		\$1,000.00
Sadie Reuter	First State Bank	\$500.00		\$500.00
Sadie Reuter	Holiday Island Elks Lodge #1042 Rising Star	\$1,000.00		\$1,000.00
Sadie Reuter	MariCorp U.S.	\$1,000.00		\$1,000.00

Sadie Reuter	Community Blood Center of the Ozarks	\$250.00		\$250.00
Sadie Reuter	Rotary Club	\$500.00		\$500.00
Sadie Reuter	CCTA	\$250.00		\$250.00
Sadie Reuter	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Sadie Reuter	A+ Advantage Scholarship	\$500.00		\$500.00
				\$11,000.00
Sahara Stettnisch	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Savannah Comfort	Eagle Rock Community Association	\$500.00		\$500.00
Savannah Comfort	Rotary Club	\$500.00		\$500.00
Savannah Comfort	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Savannah Comfort	Shell Knob Lion's Club	\$1,000.00	Renewable 4 years	<u>\$4,000.00</u>
				\$11,000.00
Savannah Fritz	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Silvia Serrano	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Spencer Moeller	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Summer Driver	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Summer Driver	Southwest Baptist University Grant	\$4,750.00	Renewable 4 years	\$19,000.00
Summer Driver	Dutile Scholars Award	\$750.00	Renewable 4 years	\$3,000.00
			Renewable 4	
Summer Driver	Southwest Baptist Residency Grant	\$2,500.00	years Renewable 4	\$10,000.00
Summer Driver	Provost's Scholar Award	\$9,000.00	years	\$36,000.00
				\$74,000.00
Torance Davis	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Wesley Stockton	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Yessnie Lepez	Battery Outfitters Scholarship	\$500.00		\$500.00
Yessnie Lepez	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Yessnie Lepez	Crowder College Cassville Center	\$775.00	Renewable 4 semesters	\$3,100
·				\$9,600.00
Zachary Acheson	CHS A+ Scholarship	\$6,000.00		\$6,000.00
Zachary Acheson	FCCLA Outstanding Leadership Scholarship	\$1,000.00		\$1,000.00

			Renewable 4	
Zachary Acheson	North Arkansas Bronze Academic Scholarship	\$500.00	years	\$2,000.00
				\$9,000.00
Zachary Carney	JD Riddle Educational Trust	\$5,000.00		\$5,000.00
			renewable 2	
Zachary Carney	Shell Knob Thrifty Closet	\$500.00	semesters	\$1,000.00
Zachary Carney	CHS A+ Scholarship	\$6,000.00		\$6,000.00
				\$12,000.00
Zachary Coenen	Big 8 Conference	\$1,000.00		\$1,000.00
Zachary Coenen	Eagle Rock Community Association	\$500.00		\$500.00
Zachary Coenen	Joe and JoAnne Ellis	\$2,000.00		\$2,000.00
Zachary Coenen	CHS A+ Scholarship	\$6,000.00		\$6,000.00
-	·		Renewable 4	
Zachary Coenen	Pitt State Football Scholarship	\$8,300	years	\$33,200.00
				\$42,700.00
Zackary Duncan	United States National Guard			
			Renewable 4	
Zackary Duncan	Missouri State University Academic Distinction Scholarship	\$1,500.00	years	\$6,000.00
Zane Mebruer	Barry Electric	\$500.00		\$500.00
Zane Mebruer	Missouri Educators' Trust	\$500.00		\$500.00
Zane Mebruer	FBLA Scholarship	\$300.00		\$300.00
			Renewable 4	
Zane Mebruer	Missouri State Scholarship Board of Governors Scholarship	\$6,500.00	years	\$26,000.00
			Renewable 4	
Zane Mebruer	University of Arkansas Chancellor's Scholarship	\$8,000.00	,	\$32,000.00
			Renewable 4	
Zane Mebruer	University of Arkansas Non-Resident Tuition Waiver	\$14,825.00	years	\$59,300.00
				\$118,600.00
			Total:	\$1,576,736.00